
Suffix Trees

The alphabet {A,B,C,D,N} is given.
a) Insert the sequence 𝐺𝐺1 = {𝐵𝐵,𝐴𝐴,𝑁𝑁,𝐴𝐴,𝑁𝑁,𝐴𝐴} into an empty suffix tree 

ST
b) Additionally insert the sequence 𝐺𝐺2 = 𝐶𝐶,𝐴𝐴,𝑁𝑁,𝐴𝐴,𝐷𝐷,𝐴𝐴 into ST.
c) Find the subsequence 𝑆𝑆1 = {𝑁𝑁,𝐴𝐴,𝑁𝑁,𝐴𝐴}. Which sequence contains 

𝑆𝑆1?
d) Which is the longest common subsequence of 𝐺𝐺1 and 𝐺𝐺2?



Levenshtein Distance

𝐷𝐷𝑖𝑖,𝑗𝑗 = min

𝐷𝐷𝑖𝑖−1,𝑗𝑗−1, 𝑖𝑖𝑖𝑖 𝑠𝑠1,𝑖𝑖 = 𝑠𝑠2,𝑗𝑗
𝐷𝐷𝑖𝑖−1,𝑗𝑗−1 + 1, 𝑖𝑖𝑖𝑖 (𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆)
𝐷𝐷𝑖𝑖,𝑗𝑗−1 + 1, 𝑖𝑖𝑖𝑖 (𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼)
𝐷𝐷𝑖𝑖−1,𝑗𝑗 + 1, 𝑖𝑖𝑖𝑖 (𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷)

Compute the Levenshtein Distance between the sequences:
• BANANA and CANADA



Levenshtein Distance

𝐷𝐷𝑖𝑖,𝑗𝑗 = min

𝐷𝐷𝑖𝑖−1,𝑗𝑗−1, 𝑖𝑖𝑖𝑖 𝑠𝑠1,𝑖𝑖 = 𝑠𝑠2,𝑗𝑗
𝐷𝐷𝑖𝑖−1,𝑗𝑗−1 + 1, 𝑖𝑖𝑖𝑖 (𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆)
𝐷𝐷𝑖𝑖,𝑗𝑗−1 + 1, 𝑖𝑖𝑖𝑖 (𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼𝐼)
𝐷𝐷𝑖𝑖−1,𝑗𝑗 + 1, 𝑖𝑖𝑖𝑖 (𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷𝐷)

Compute the Levenshtein Distance between the sequences:
• PAPAYA and PARAGUAY
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